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Bachelor of Commerce (B.Com.-17)

Second Year Examination, 2019 (June)
Time : 3 Hours] Max. Marks : 80

Note : This paper is of Eighty (80) marks divided into three
(03) sections A, B and C. Attempt the questions
contained in these sections according to the detailed
instructions given therein.

M :  TE YT AEH (80) IR H T S A (03)
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SECTION-A/( @US-%h )
(Long Answer Type Questions)/( €&l 3T T W9T)

Note : Section 'A' contains four (04) long answer type
questions of Nineteen (19) marks each. Learners are
required to answer any two (02) questions only.

(2x19=38)
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1. What do you mean by Public expenditure? How is public
finance different from private finance?

grefefer =@ 9 o e 87 wesitie fae freh faw
g Hg = 22

2. Access the role of public borrowing in economic
development. What differences does it make if a public loan
is raised externally rather than internally?

aftfer fama ® wewfw ®o # g w1 godied
I FrasIeh /O IE I ® T W TH ® a6
foden @ fon W@ @ @ sR w=W?

3. State the main recommendations of Twelth Finance
commission and evaluate them critically.

aNed faq oM &1 gua fawfiel & aasd qen 3
STA=AIcHS:  gedlhd  hifer|

4. Write notes on:
(a) Revenue Deficit.
(b) Local Finance.
(¢) Revenue and Capital budget.
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SECTION-B/( ©@Us-@)
(Short Answer Type Questions)/( g I AT Y9T)

Note : Section 'B' contains eight (08) short answer type
questions of eight (08) marks each. Learners are required
to answer any four (04) questions only. (4x8=32)

M : Tus ‘@ H IS (08) oY S ad WA &
™ T, T U & fau e (08) sfw fuifa
g1 foenfeai @i 99 @ ®aw WR (04) Y ®
SW A T

1. What are the similarities and dissimilarities between public

finance and private finance?

A

qrei-e fam qen fit fam = 7 9u9mad 9 STama
F T2

2. Give arguments is favour and against ' Balance Budget' .
‘gifed S9e’ & U4 qen fauyg W @ I
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"Deficit finance is a good servant but a bad master". Explain
the statement.

‘S W T ool Th oTeSl Waeh W] 90 @l B
T R 1 WY HifST

Briefly discuss the factors responsible for the Rapid growth
of Public expenditure.

TSR =g & ot 9 fah™m & U ScReEl Tesi W
wfarg ==t R

What is the 'Place of supply'? Explain its relevance under
GST.

‘Off 1 TR’ w22 HTEdA # wed | me wed
e |

Write the shortcomings of Indian federal financing.

qRdE wEE fac w1 wigal fated|

What do you mean by "National income concept"? Explain.

“UTEE ™ I SO’ W MY N WHEd 8?7 oU
F

What are the impacts of demornetization on economic
stability?

oo &1 onfdfer feemar | @ 9@ USdl @2
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SECTION-C/( @US-TT)
(Objective Type Questions)/( Eﬂﬁﬁﬁ TI7)

Note : Section 'C' contains ten (10) objective type questions
of one (01) mark each. All the questions of this section
are compulsory. (10x1=10)

e : wUe ‘v 39 (10) qATS T Y W OE,
g% Y99 @ fow TR (01) i el @1 =9
e & qfi e stfrerd ©

Choose the correct Option.

&l fawed gral

1. The study of revenue is:-
(a) Government Income
(b) Government expenditure
(c) Government Loans

(d) All of these

T & &9 % I T W 9 fEmem etemm feen
S 272

() WS A
(9) geSIe =4
(¥) HEwe® R
() 7™ @ uft
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2. The need of public goods are fulfilled by:
(a) Private budget
(b) Government budget
(c) Public budget

(d) None of these

greete aeget &1 Ui e o ¥ fRwe gw ol e
T

(27) AfFT T g
() TER T2 §R
(|) WES{eh ase gh
(R) =@ F HE T
3. Revenue Receipts:
(a) Create liability
(b) Do not reduce government Assets

(¢c) Increase savings

(d) None of these
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4. Under depression, the expenditure which is incurred to
achieve full employment is called:

(a) Investment
(b) Subsidies
(c) Compensatory expenditure

(d) None of these

TR @ H QU ISR W R & faw S = e
I ? 39 e B 9w wEl SR

(31) fafam
() o7fer wemEan

() gfdEes =13
() 3 9 HE T
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S.  The canon of equality of taxation implies that:
(@) The Burden of tax is equal
(b) The amount of tax is equal
(¢) The tax is recovered from all

(d) The rate of tax is equal for all.

FII0 H THAEAT % 95 ® 9 9 9 | o

L,
(37) ® & IR FEE T

(F) HT &I °9F 99 & faU gHE S

(F) 9t ¥+ aga fea s

(3) & W Hgd & AU GAE B

6. The tax which does not comes under direct tax:
(a) Property Tax
(b) Estate Tax
(¢c) Excise Duty

(d) Sales Tax
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7. By public debt, we mean
(a) Internal debts
(b) External debts
(¢) Local debts

(d) None of these

TSR R Y TN aed e H W w22
() R F0 I B

(@) faieft w0 9 2

() T w0 ¥ E
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8. All the heads of income and expenditure are distributed
between central, state and local government in Accordance
with;

(a) Federal Finance
(b) Unitary finance
(c) Both of the above

(d) None of the above

A d FI K AW HE Kl HRIF, TSI Y T
TR ® T T 4 9 e w9 9§ @i R s @2

(1) He g fore H
() THEER o @
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9. The chairman of 13th Finance commission is:
(a) Dr. Vijay Kelkar
(b) Shri L.G. Patel
(¢) A.S. Khusro

(d) Dr. Manmohan Singh
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10. The budget is finally approved when
(a) Itis passed by the Lok sabha
(b) It is passed by the Rajya Sabha
(c) President of India gives his asent

(d) None of them

Toe A< &Y W Wigd = H W e T S @2
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